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Information

AR A AN e WA ZAE EX wAL

Do not open the booklet until vou are allowed to start.

PUEG o] B FYES REES AHIA Ho| FHAL
W rite yvour name and registration number on the answer sheet same as on
vour test voucher.

geAE FAAAY ALaA AL

Do not fold the answer sheet; keep it clean.

gatAel o, +9US 2 A9 J1Yge WEA ARHE AL Ao}
sh9l, werel 34 Al £ HlolZe Algo] sbsgTh

Use only the optical mark reader(OMR) pen to fill in on the answer sheet.
You may use a distributed whiteout to correct the answer sheet.

294 B ARG A ol9lo] thE FFe] A Abgo] sFeu, wat £4 A
ASAG £4 Eol L Abgol ThEgt

You may use other types of pen, not only OMR pen to answer the writing
section, statement and composition, also use a plastic eraser or whiteout to
correct the answer.

Aehe Aol AFeA B FAAL

Fill in completely each circle with a clear mark on the answer sheet.

answer sheet T 03 %

TAE g e 27 YA EEF SAHAL
Keep quiet while answering the questions.

AFol 9L Wl &2 Bu gHwo] & WA Jvky FHAL
When vou have any questions, please raise vour hand and wait till the test
administrator comes to vou.
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